N = 0l & At & Ml A

20178 =& 2 3 LA A

2AM: H0lH
AR K| YSHE ozF 205}

Sel X (232

SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
<ol H 2,812,893 1,996, 122 816,771
= 25,000 0 25,000
Al 2,787,893 1,996, 122 791,771
RNgay oz 235 307,203 297,101 10,102
PADELES 307,203 297,101 10,102
Eeltrssid 136,750 132,970 3,780
301 LBtE A 136,750 132,970 3,780
0 EH-0F - ¥ESEAS 136,750 132,970 3,780
O ESE= 131,400 127,920 3,480
OJleay 96,000,000 96,000 93,600 2,400
OF Y= 16,200,000 16,200 15,600 600
OFo sy 19,200,000 19,200 18,720 480
out&LG 5,350,000& 5,350 5,050 300
A 551 2A H H| 9,154 8,954 200
201 LBt A H| 600 400 200
02 B229H| 600 400 200
O A=Y R H 600,000 * 1CH 600 400 200
FOXNXHMH2I XA 73,062 66,940 6,122
405 XHaHE SH 9,022 2,900 6,122
01 THAtY 2 E F SH 9,022 2,900 6,122
OERH MM mA) 180,500 * 167H 2,888 0 2,888
O0lsa He 539,000 * 64 3,234 0 3,234
pNE-DIE=T 1,493,333 686,664 806,669
= 25,000 0 25,000
Al 1,468,333 686,664 781,669
KIS0 AL 1,493,333 686,664 806,669
= 25,000 0 25,000
Al 1,468,333 686,664 781,669
ARDF0=SAANY 606,514 581,514 25,000
= 25,000 0 25,000
Al 581,514 581,514 0
401 Al 2 HIZ 20H| 606,514 581,514 25,000
= 25,000 0 25,000
Al 581,514 581,514 0
01 A& H| 603,000 578,000 25,000

SR A2 S 246 E N2 AHL=30m)

25,000,000 25,000 0 25,000
= 25,000 0 25,000
Lo ERALY 781,669 0 781,669
401 Al HIZ 20| 781,669 0 781,669
01 A& H| 776,775 0 776,775




2N
PN =

el

X ZH
S =

g0l

KIS OH & A

SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&

©DJtotel 366-1 Al & & Hl 2 At(L=330m)

53,068,000 53,068 53,068
©Jtotel 368-2 =2 =72 AH(L=30m)

5,982,000 5,982 5,982
©2Jt0tel 369 =2 =73 AH(L=100m)

22,068,000 22,068 22,068
OJtxtel 285 =2 =73 AH(L=200m)

5,274,000 5,274 5,274
OLEL 270-2 s2= 7S AH(L=15m)

2,315,000& 2,315 2,315
OLEC| 442 =2 ZHIAFZ (L=10m)

3,230,000& 3,230 3,230
OECD 435 2@ s2L =2 S 3 AH(L=250m)

12,589,000& 12,589 12,589
OYEL 337 ==73 AHL=200m)

20,339,000 20,339 20,339
oudal 291 s2=73AHL=70m)

21,230,000 21,230 21,230
ougel 275 M& =7 A (L=200m)

23,479,000 23,479 23,479
Otgiel 289 €& s=2L>2=2 7S AHL=20m)

2,873,000 2,873 2,873
OAXTel 499 s =73 AH(L=10m)

10,205, 000& 10,205 10,205
O2=cl 510-9 =2 =7 At (L=80m)

5,264,000 5,264 5,264
O=Zsel 480-8 =2 =7 At (L=50m)

4,538,000& 4,538 4,538
O2=cl 480-9 =2 =7 At (L=50m)

4,935,000& 4,935 4,935
O2scl 65 2= 73 AH(L=50m)

26,802,000 26,802 26,802
OR=cl 480-3 =2 =73 AH(L=120m)

24,677,000 24,677 24,677
OR=cl 498-9 =2 =7 At (L=40m)

9,502,000 9,502 9,502
OS2l 480-13 =2 = 2 AL (L=70m)

11,666,000& 11,666 11,666
O2scel 321-2 s 2= 3 AH(L=10m)

2,288,000 2,288 2,288
O 32l =273 AH(L=30m)  12,110,000& 12,110 12,110
OHA2| 682-6 =2 =73 AH(L=150m)

11,339,000& 11,339 11,339
OHAZ| 699 == =73 AH(L=20m)

3,200,000 3,200 3,200
O] 947-3 =2 =73 AH(L=100m)

10,496,000 10,496 10,496
OHAr2| 839-1 =2 =73 AH(L=320m)

32,723,000& 32,723 32,723




2N
PN =

el

X ZH
S =

g0l

KIS OH & A

SN FH-SA(EN) - MBAY - BES 0l &F 24 p/E-E" HlnE2

O=atel 983 =2 =7 AL (L=150m)

16,208, 000& 16,208 16,208
O atel 919-4 =2 =2 At (L=60m)

10,303, 000& 10,303 10,303
O 4tel 919-6 =2 =2 At (L=50m)

1,468,000 1,468 1,468
ORE2&el 1139 =Z = F AL (L=100m)

9,871,000& 9,871 9,871
OF &2 el 1073 M & & HI At (L=90m)

11,845,000& 11,845 11,845

&2l 502-8 s 2= 7= AH(L=70m)

8,580,000& 8,580 8,580
OH&4alel 534-2 s2=7 3 AH(L=150m)

27,953,000 27,953 27,953
OA&Ael 17-1 s 2= 73 AH(L=50m)

6,887,000 6,887 6,887
OA4ael 365-2 s 2= 72 AH(L=30m)

3,330,000 3,330 3,330
oA 4ael 151-6 s 2= 7 2 AH(L=50m)

7,863,000 7,863 7,863
OXS=2| &433-3 =2 =7 AL (L=80m)

7,260,000 7,260 7,260
OMSEl 297 =2 =7 At (L=100m)

9,871,000 9,871 9,871
ogsel 217 =2 =7 At (L=200m)

24,405,000 24,405 24,405
ogsel 371 =2 =7 AL (L=250m)

25,609,000 25,609 25,609
OZE2l 206 =257 AH (L=100m)

9,075,000 9,075 9,075
OZ=Scl 354-1 A& Al AHY (L=200m)

26,322,000 26,322 26,322
OoZ=cal 231-1 M & Al AL (L=130m)

9,723,000 9,723 9,723
oZ=el 36 &I HIA (L=170m)

13,173,000& 13,173 13,173
oZE2l 107-1 =2 =7 AL (L=100m)

9,075,000 9,075 9,075
OaYel 262 =2 =72 AH(L=80m)

15,277,000& 15,277 15,277
oAl 267 =253 AHL=130m)

12,941,000& 12,941 12,941
O&del &26-15 s 25723 AH(L=20m)

7,749,000 7,749 7,749
OAaYel 249 =2 =73 AH(L=20m)

5,076,000 5,076 5,076
Oatel 150 =2 =72 A (L=100m)

9,075,000 9,075 9,075




2N
PN =

el

X ZH
S =

g0l

KIS OH & A

SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
O&tate] 564 =2 =7 AL (L=200m)
18,151,000& 18,151 18,151
Ozl 2-2 sE=73AH(L=50m)
8,784,000& 8,784 8,784
ozdel 315 =2 =7 AL (L=250m)
22,688,000 22,688 22,688
O70l2l 48-2 = 2=73 At(L=30m)
3,200,000& 3,200 3,200
O7el 27-2 s 2= 3 AH(L=20m)
3,463,000& 3,463 3,463
O7el 243 s =73 AH(L=50m)
4,219,000& 4,219 4,219
O7el 65-1 =2=73 AH(L=100m)
5,249,000 5,249 5,249
oO7el 272-1 =2 =2 AL (L=120m)
9,065,000& 9,065 9,065
O7el 315 =2 =7 AL (L=250m)
32,902,000& 32,902 32,902
OHIE2l 180 s =73 AH(L=150m)
26,423,000 26,423 26,423
O &t42] Hh 2= H Ul S AH(L=150m)
11,500,000& 11,500 11,500
03 Al 2 THHI 4,894 4,894
Oxdis7Ae AIERUH
776,775,000& * 0.63% 4,894 4,894




N & O & g & M A
2017 E £ 28 LBsA A
2N BT
o HI2YAH (HEH)

Sl ol ) CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
B 1,902,495 1,832,443 70,052
HI2AHU (HEH) 1,102,087 1,032,035 70,052

ol 2 gt 1,004,699 934,917 69,782
ol 2yl 1,004,699 934,917 69,782
101 9121 bl 968, 744 903,717 65,027

01 24 968, 744 903,717 65,027
07123 689,759 632,397 57,362

062 (275 %) 250,751,002 250,751 203,884 26,867
072(185%) 209,877, 0002 209,877 79,382 30,495
os4+224% 22,428 21,840 583
os+ee+g 22,428 21,840 588
~goaesy 14,868,00024 14,868 14,280 583

O L Y (SEH) 27,140,0002 27,140 20,063 7,077

204 X2+ A 35,955 31,200 4,755
02 X2 EH 35,955 31,200 4,755
GRS 35,955 31,200 4,755
063 10,695,0002 10,695 9,300 1,395

073 1,760, 0002 1,760 8,400 3,360

o= 2l 97,388 97,118 270
ol = 2| 97,388 97,118 270
204 M2+ A Y| 2,670 2,400 270
NEEEFEESEL 2,670 2,400 270
OIEA (527 2F) 2,070,000%! 2,070 1,800 270




N = 0l & At & Ml A
2017 E £ 28 LBsA A
SHAEIS
o Folaol B gy
Sl OIS0E D18 X4 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
AR 1S 643,172 679,519 736,347
FoIaol B a4 157,465 167,762 ~10,297
OSCHE DIE Xy 157,465 167,762 ~10,297
0 Mg K8 102,137 101,634 503
201 2Bt | 13,509 13,006 503
02 232l 5,389 4,886 503
owANY REl 1,178 * 4504 503 0 503
FOUTAHE 2 38,204 49,004 £10,800
201 Yer 2 bl 27,294 38,004 210,800
01 A2 22l 25,204 36,004 ~10,800
OFURX ZRIY ALY
20,0002 * 5IHDAl * 18AI2F » 102 18,000 28,800 £10,800
HH2S YA (AEIS) 485,707 511,757 £.26,050
T 426,449 452,499 26,050
ol 2yl 426,449 452,499 26,050
101 9121 bl 411,869 436,419 A24,550
NS 411,869 436,419 24,550
CPIEE 296,072 320,622 24,550
oJ=2 271,408 295,958 24,550
SIS 271,408 295,958 24,550
82 i 0 24,550 724,550
204 X2+ A 14,580 16,080 A1,500
02 HZE Xl 14,580 16,080 A1,500
©82-93 4,500,000%4 4,500 6,000 A1,500




2N
X ZH -
L= B

el

Ol &t

o o Al

=H o

Off &t 24

735,287

761,

337

A 26,050

533,376

559,

426

N 26,050

469,283

495,

333

N 26,050

469,283

495,

333

N 26,050

453,203

477,

753

A 24,550

24,549,600

453,203
316,789
316,789
316,789

24,550

477,
341,
341,
,339
,100

753
339
339

A 24,550
N 24,550
N 24,550
N 24,550
N 24,550

16,080

,580

A 1,500

6,000, 000&

16,080
6,000

,580
7,

500

A 1,500
A 1,500




N & o & AF & H Al A
0178 E =& 2 3 LetaH ®A
2N RS
Hu: HH2HHH(RES)
¢ o2 (e &)
SA-ZH () - HRAY - BES Off &4 JEH Hns2Z
2= 979,246 914,460 64,786
HYRIZH(RES) 634,712 569,926 64,786
el 2 562,556 502,704 59,852
ol 2| 562,556 502,704 59,852
101 @14 dl 542,176 485,124 57,052
01 2= 542,176 485,124 57,052
OJles 426,290 369,238 57,052
OJles 403,464 346,412 57,052
-2 B 403,464 346,412 57,052
6= 134,330, 800& 134,331 89,554 44,777
8= 85,924,000 85,924 73,649 12,275
204 HR=HAH| 20,380 17,580 2,800
02 a2 =4l 20,380 17,580 2,800
OXzg 2=t 20,380 17,580 2,800
O63 5,270,000& 5,270 3,720 1,550
O8= 5,750,000 5,750 4,500 1,250
Jl=&l 72,156 67,222 4,934
Jl=dl 72,156 67,222 4,934
201 Let24d] 39,536 37,422 2,114
01 At 2teltl 15,374 13,260 2,114
OJlege=adZl 8,750,000 8,750 7,500 1,250
O=ZHI(J1E&HI) 6,624,000 6,624 5,760 864
202 oddl 20,700 18,000 2,700
01 SLHOIYI 20,700 18,000 2,700
OJI&Z 20,700,000& 20,700 18,000 2,700
203 YR =&l 10,120 10,000 120
02 AP 2= 520 400 120
OJEH(HE 100ENKI) 520,000& 520 400 120




N & 0l & Av S Z M A
20179 S %Y 2 3 YurslH FA
SN MHS
HH: HHSYAU (ML S)

Sl ol ) CERED
SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE

tes 960,699 972,699 A12,000
BHLSIAY (ML E) 673,964 685,964 A12,000
ol 2 gt 596,415 608, 415 A12,000
ol 2yl 596,415 608, 415 A12,000
101 9121 bl 575,475 587,475 A12,000
01 2 575,475 587,475 A12,000
SotEE4Y 0% 0 2,000 A12,000




= A
N = 0 &8 AFH Y & A AN
20178 &= =& 2 3 L3 AH M
2N 2ES
M HYSAHH (2ES)
©ol: ol 2oyl (el &e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH IR Husz
2EEHS 902,216 996,857 A 94641
HYSAAH (BEHS) 626,377 721,018 A 94,641
olad 2| 542,574 637,715 A95, 141
Q14| 542,574 637,715 A95,141
101 @124l 521,634 616,775 A95,141
01 B2 521,634 616,775 ~95,141
oJlea 349,201 444,342 A95, 141
oJl=2 345,014 415,739 AT0,725
-2l Bkl 345,014 415,739 AT0,725
- 632 129,992, 400 129,993 134,331 4,338
3 52,406,400 52,407 71,753 A19,346
- 83 39,367,200 39,368 98,199 A 58,831
- 93 50,742,000 50,742 38,952 11,790
oaN3 4,187 28,603 A24 416
-Haad 4,186,250 4,187 28,603 A24,416
Jl2 3 83,803 83,303 500
Jl23H| 83,803 83,303 500
201 LBt 48,323 47,823 500
01 AFR 22l H 16,912 16,412 500
OS3HI (JI=ZH) 7,412,000 7,412 6,912 500




N = 0l & At & Ml A
2017 E £ 28 LBsA A
SN 2R1S
o HI2YAH (£21S)

Sl ol ) CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
+218 749,504 766,988 A17,39
HHLIAY (£21S) 552,677 570,071 A17,394

ol 2 gt 480,019 497,995 ~17,976
ol 2yl 480,019 497,995 ~17,976

101 9121 bl 460,939 480,415 ~19,476
01 24 460,939 480,415 £19,476
07123 349,762 369,238 ~19,476
oJe=2 326,936 346,412 £19,476
-2 254,432 273,908 ~19,476

93 19,476,00024 19,476 38,952 £19,476

204 X2+ A 19,080 17,580 1,500
EEEES 19,080 17,580 1,500
©83-92 9,000,000% 9,000 7,500 1,500

| =2l 72,658 72,076 582
LT 72,658 72,076 582
201 Yot 2 bl 33,208 32,776 432
01 AR 22l 13,692 13,260 432
CEELIGIEETI) 6.192,000%! 6.192 5,760 432

204 X248 A bl 1,950 1,800 150
NEEEEE R 1,950 1,800 150
OIEA (52712 F) 1,950,000%! 1,950 1,800 150




> A
N & 0l & Av S Z M A
U =3 2 3 eI &
4328
FoIgtol B g4
orst2 otsx4d (Sl & &)
SN BB ERI(SH) - MEANY - BES 0l & o p/E-F HIDE2
=225 1,067,326 1,135,585 A 68,259
4ol &2 ey 208,872 204,872 4,000
st otz 4 208,872 204,872 4,000
FAEE A 19,045 15,045 4,000
401 Al HIZ 2018 4,000 0 4,000
01 A& HI 4,000 0 4,000
O1Z ZelHolE & H=1l ZX3A
4,000,000 = 14l 4,000 0 4,000
HY2F B (=328) 858,454 930,713 AT2,259
A2l 768,543 843,372 AT4,829
ol 2| 768,543 843,372 AT4,829
101 1Al 739,563 814,392 AT4,829
01 2= 739,563 814,392 AT4,829
oJleEs 525,681 600,510 AT4,829
OoJlzs 485,065 559,894 AT4,829
RS 485,065 559,894 AT4,829
= 71,752,800& 71,753 107,630 N 35,877
- 9= 38,952,000& 38,952 77,904 A 38,952
=& Hl 89,911 87,341 2,570
JlE&l 89,911 87,341 2,570
201 ¢er24| 43,031 40,461 2,570
02 =224l 20,239 17,669 2,570
oORERS 4,927 2,357 2,570
Og et 1,350,000& 1,350 810 540
Os7l 3,088,000 3,088 1,351 1,737
Ooetsz 489,000& 489 196 293




N & 0l & Av S Z M A
20179 = =& 2 3 LB ®Al
FA d3i=ES
M HH2IZH (LS =ES)

S I E= EERED
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HIDE2
HdEe=Es 1,263,708 1,255,774 7,934
HY 2L (MM =ES) 909,592 901,658 7,934

el 2| 796,093 793,093 3,000
A2 796,093 793,093 3,000

204 MR FH| 30,660 27,660 3,000
02 22 =4 30,660 27,660 3,000
©8=-9= 13,500, 000& 13,500 10,500 3,000
Jl=& 4l 113,499 108,565 4,934
Jl=3 113,499 108, 565 4,934
201 L Et2A | 61,839 59,725 2,114
01 AtR 2t 2l | 22,830 20,716 2,114
OJlegf=a8 A 12,750,000& 12,750 11,500 1,250
o=sgs (OIE=2dl) 10,080, 000& 10,080 9,216 864

202 044l 31,500 28,800 2,700
01 SLHOYI 31,500 28,800 2,700
OJIEZ 31,500,000& 31,500 28,800 2,700

203 ¥ S =&l 12,860 12,740 120
02 §3 et =4 760 640 120
OJIZ=H(H 100 NtXI) 760,000& 760 640 120






